ol T\, & 58 BY PO T\ 7% 22 58

4-JAW ADJUSTMENT STEEL BODY SCROLL CHUC

g B G
. | /
| Ir |
- - 1HE i |
B |
, _F4-1- n K
BT gl dd 8
B B : .
L ; 2
: T
simt
- L[ \m

5 1% & > Specifications & /UNIT:-mm
AU /4818 Er e OfEE RiEEEE Max. Gripping Diameter

MODEL C D E E G H K M L Max.Speed M DIR PR DR

/ SPEC. r.p.m.(min”') O.D.Clamping I.D.Clamping
4DACT-08 200 825 160 176 55 12 3-M10x1.5P 75 22 28 4-M12x1.75P 11 3500 04-0197 051-0184
4DACT-10 250 91 200 224 76 13 3-M12x1.75P 98 28 385 4-M12x1.75P 12 2600 06-0265 @ /0-0250
4DACT-12 315 103 260 286 103 14 3-M1ex2P 110 30 445 4-M12x1.75P 14 2200 010-0325 081-0308
4DACT-15 400 122 330 362 136 15 3-M16x2P 146 40 56 4-M12x1.75P 17 1600 014-0408 0106-0389

52





